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PART I QUESTIONS: Answer all questions in this part by writing the choice of the appropriate answer in the
blank beside the problem. Please show all of your work.

1. Which of the following values of x is a solution to the equation "'f()(—3> +8 = ég :
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4. Twe times the sum of a number, n, and Y is at oSt )0 Which of the following inequalities properly
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@ iz cormctly strts solving the linear equatior 3¢x+1)=~1 vniting )+7=-3 Which of the following

properties justifies what Max wrote? =3 +3 /
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6.  Which of the following graphs shows the solution set to 3 X .= 4 23
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.7 . The value ¥=§ is a solution to each of the following, except which?
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8. Plato was saving |D each week in order to have enough money for a phone that costs #/50, If his father
started him off with¥ 3D ‘which of the following is the minimum number of whole weeks Plato will need to
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ART IT QUESTIONS: Answer all questions in this part. Please show all of your work. A/ e,br"&
9. The Vohe of'a C°"s given by the formula /= 7’4 Solve this equation for the height, h in terms of /]
(3) (3) mu He K cation

3V = 1ue*h

Fmrer ST Jisien

3V L h] & sbed Br h. His by itsel®.

Te?
10. When a number, X is increased by "handﬂlentheremﬂtlsrhufﬁplm/&dé is equal to /8
Write an equation and solve it to find the value of . x_
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11. Justify your response, is the value X= -4 a solution to the inequality Sx - 3 L (;x
. Su bstwtion 5(-4) -3 > €(-4)

?(nbk.m
-0 --3 > -y
SR A
Yes, -n'ueJ i+ is a SoluYon
12. Solve the following equation for x. Show the manipulations that lead to your final answer.
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.13. Algebraically solve the inequality, SX ~ 146 é "?/3%’ +D~) S e }”je,bfa_
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14, Graph the inequality from #13 on the number line. ]X ) k Closed He eqv
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15, Give a property of real numbers or a property of equality to justify each step in the solution of the equation

shown below.
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16. Solve the following multistep equation. — 3% — 4 = ~ 22
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Ly +ax ~3+l =-37

bx-7= ~37
bx =-30
X=-5



